— SET-1

: =1 =l @
Series AABB1/2 % P cone B712/1

Ot qlierefl SY-0 Hig ol IT-YREdehT
Roll No. qE@-Y8 W e fod |
Candidates must write the Q.P. Code

on the title page of the answer-book.

FIA S WA TR IA-HA AT B 15 7 |

-9 gIfed 1Y 1 3R ST T JoA-9 i ol wiamefi IT-gfEhl % 7@-8

W foE |

o A AT H o foh WA H 13T ¢ |

o FHUAT T T IW fTEAT I&E T & Ugel, IW-YIEhT | T 1 hieh Havd
fora |

o 3T TH-UA i e & AU 15 e 1 ww foan T R | weA-us o faaor gatg

T 10.15 & fopaT M@ | 10.15 91 ¥ 10.30 S5 doh B shadd IH-9 bl Tl
3R 39 7Y & NH I IR-YFeh W HIE I T8 fora |

e Please check that this question paper contains 15 printed pages.

e Q.P. Code given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 13 questions.

e Please write down the serial number of the question in the
answer-book before attempting it.

¢ 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.

—— —

Sha fagm (Vgrfie)

BIOLOGY (Theory)

Feiia 7 : 2 g2 SfeHaTH 3%F : 35
Time allowed : 2 hours Maximum Marks : 35

1 oo P.T.O.



AT [A397:

FHETITRET 145911 %1 a5 TIae] & qieq 31X 371 ] & 91 BT :

(i) FEFT-97H13 Fo78 |

i) @Y go7 I F

(iii) T8 Y97-97 A7 @US] 7 [97f5id [ T & — @Ue o, T IR T/

(iv) WIS IHH6 T &, 9% J972 37H] H71 & |

(v) EWISTHGETHE Jd% J973 3H HT & |

(vi) TV G T UFH FHU-IETRT 397 3 f55a% 5 375 & |

(vii) G F97-97 7 BI5 1aheq 781 & | W FS o7 4 3Tak® laeey 15T 77
g | 08 37 7 @acT v fdheq #7 8§ I 7T & |

(viii) &l 3T &, Tel s, HTaw a7 TYId Hllsd [+ 7% |

Qug A

1. T SEANCEE AR (91deh) W A8 8, Wed AHd § I8 AT bl diel, =R
foegarsti 3R fashamTar =1 %1 2 | W foheel @ gfony i o o5nies am
faRau S 39 T o FH & TAT BIEORTSH o SRV G Greehlcieh THTE
(Afieatr) =1 Seor@ Wt I |

2. “HAmEl H gy % U= Sl STUET qEl 1 U iU WA § |7 Q1 wEfed Rl
! TgEar § HeF i iifac firg S |

3. (%) TS 4 difed uh Afh Sl GwHad! Gshuvli (TR ) % HRT T &l

STt 8, AT I8 HshHUT g T0 T&d 3T g <Al 511 Fehal o1 |

() ‘wmImE.d. & Wit A uaad FshAT % HRO G b B
g ? Tt Tsh ST W1 Ieci@ HINT |

(i) T SIATY] AT Teh WSi! 1 fTi-eh A1 faifgq S J&Ia: 18|
Gohd STk X AT L Hehd & |

(ili) UEH & TOI¢ =9 €9 A IFAT fhU I It Agrteh qdieqor
U AW Tt |

HAAT
(@) ‘guu™ o HRU R T IS4 el gUHE § Fe e fae o Jepei T
B =AdE % STESg GETS H gHIH Sl HTEd S g% 8 | gHIH H
It o TR o fTT TR YHE Wall ol Ieei@ i |




General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)
(it)
(ii1)
(iv)
(v)
(vt)
(vii)

(viii)

This question paper consists of 13 questions.

All questions are compulsory.

The question paper has three sections — Section A, B and C.
Section A has 6 questions of 2 marks each.

Section B has 6 questions of 3 marks each.

Section C has a case-based question of 5§ marks.

There is no overall choice in the question paper. However, internal choices
have been provided in some questions. Attempt only one of the alternative
in such questions.

Wherever necessary, neat, proportional and properly labelled diagrams
should be drawn.

SECTION A

Though filariasis is not fatal, but the disease in humans is responsible for
considerable suffering, gross deformities and disability. Write the
scientific name of any two helminth worms causing the disease and state
two chronic manifestations of filariasis. 2

“Curd is easier to digest by humans than milk.” Justify, giving two
suitable reasons. 2

(a) A person suffering from AIDS dies of opportunistic infections
(ARC) i.e., infections that could have been otherwise overcome.

(1) State one reason as to why an ‘HIV’ patient dies of
‘opportunistic infections’.

(i1)  Give the scientific name of one bacterium and one parasite
which mainly attack a person suffering from AIDS.

(iii)  Write the full form of the name of the widely used diagnostic
test for AIDS. 2
OR
(b) In spite of the statutory warning on cigarette packets against
‘smoking’ and its injurious effects on health, smoking is still
prevalent in the society. Enumerate four important health hazards
to a smoker. 2
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Study the given diagrams of Biogas plants — ‘A’ and ‘B’ and answer the

questions that follow :

Slurry of Slurry of
dung —> Gas pipe human —> Gas pipe
Il excreta
Y

~ = Gas holder \ =— Gas holder
e e\ I T P e B -
P Sludge iy \ Sludge
- - - = _- = Digester 777 - Digester
Biogas Plant (A) Biogas Plant (B)

Which one of the two biogas plants can be used for generating gas fuel and

electricity and why ? Give suitable reasons in support of your answer. 2

Explain the two physiological attributes which enable a kangaroo rat to

survive in desert conditions. 2

(a)  Study the given graphs (X) and (Y) depicting the annual variation
in solar radiation on Earth from January to December and answer
the undermentioned questions.

= 5 |
o Q
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= =
o o
i i
= =
a HAEEEEEEEEEE a HEEEEENEEEN
Jan. Dec. Jan. Dec.
Months — Months —
(X) (Y)

(1) Identify the graph that depicts (I) tropical region, and
(IT) temperate region, respectively.

(ii)  Which of the two regions, (X) or (Y), will show high biological
diversity and why ? Give two reasons. 2

OR
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(b) @) When prickly pear cactus was introduced into Australia in
early 1920s, it caused havoc and ecosystem instability by
achieving very high population densities. Explain the reason

for its rapid spread into millions of hectares of rangeland.

(ii)  State the importance of ‘Prey-predator’ relationship in a

habitat. 2

SECTION B

7. When Plasmodium sp. (malarial parasite) enters the human body, it
reproduces asexually and increases its number. During this course, the
affected person suffers from malaria. After a number of asexual cycles,
the parasite, in order to complete its life cycle, enters the sexual phase of
its life. Trace the sexual stages in the life cycle of Plasmodium in a
female Anopheles mosquito, when it bites an infected person, up to the

formation of mature infective stages of the parasite. 3

8. (a) Name and state the type of immunity that acts as a ‘biological
shield’ to the developing foetus against many infections in the

mother’s womb.

(b) A large proportion of infants remain free from potent infections at
least three months after birth, or even longer if breast fed.

Explain, giving suitable reasons. 3

9. With the advent of sophisticated techniques of genetic engineering, we
can now readily purify and isolate DNA. Name and explain the different
steps involved in the separation and isolation of DNA fragments once cut

by restriction endonucleases. 3
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10. (a) “Some species in an ecosystem exert greater influence in driving
major ecosystem services than others.” How did Paul Ehrlich
explain this concept in his ‘rivet popper hypothesis’ ? 3

OR

(b) @) How has the introduction of Nile Perch into Lake Victoria in
East Africa had a devastating effect on the indigenous
species in the lake ?

(ii1) Name two invasive weed species which have posed a threat
to the existence of our native species. 3

11. Given below is a picture of a natural large habitat that is being
continuously broken into smaller patches. This process is continuing,
increasing and expanding over time due to human impact, thereby posing
a great risk to the existence of species in the habitat.

Gaps created
over time

due to human
activities

Original
Habitat
Habitat loss due to creation of ‘patches’ in a habitat

(a) Do you agree with the above statement ? Give two suitable reasons

in support of your answer.

(b)  Write the ecological term used for such patches formed in an

original habitat. 3

12. An application of biotechnology in agriculture involves production of
pest resistant plants using ‘cry’ genes from a bacterium. Name the
bacterium. Explain why the ‘cry’ gene kills the pest but not the bacterium
itself. 3
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13. (a)

@ Restriction Enzyme

SECTION C

Development of recombinant DNA technology has opened gates to
many breakthroughs in the fields of medicine and agriculture. This
has enabled scientists to isolate, sequence and manipulate
individual genes obtained from diverse living or dead cells. Given
below is a diagram showing the basic steps involved in genetically
modifying an organism. Study the given diagram and answer the
questions that follow :

\

Xl (Gene of Interest) @ / 00
Restriction | 5 @ %©©© ———
Enzyme - 00 o

rDNA E. coli \
@ (vector) ® 0
®00

Plasmid
(Vector)

(1) Are two different types of restriction endonucleases used,
one to cut the vector DNA and another to cut the desired
DNA to be cloned ? Support your answer, giving reason.

(i1))  Which enzyme is used at step (X) to integrate the foreign
DNA with the vector DNA ?

(iii) What is the term used for step (Y) showing multiple copies
of the foreign DNA being formed in transformed E. coli ?

(iv) Draw a diagram of E. coli cloning vector pBR322 to show the
following :

I Any one restriction endonuclease site in tetracycline
resistance gene

(I)  Any one restriction endonuclease site in ampicillin
resistance gene

(ITIT)  ‘or?’ site

(v)  What does “rop” code for in plasmid pBR322 ? 5x1=5
OR
11 @52 P.T.O.
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(b)  RNA interference (RNAi) holds great potential as a therapeutic
agent for the treatment of human diseases and as a bicontrol agent
for controlling pests in the agricultural fields. An experiment was
conducted to study the use of ‘RNA1’ for the potential treatment of
disorders of cholesterol metabolism. Some people possess genetic
mutations with elevated levels of ‘ApoB’ gene which predisposes
them to coronary artery diseases.

Lowering the amount of ‘ApoB’ can reduce the number of
lipoproteins and lower the blood cholesterol.

Tracy Zimmerman and her colleagues used RNAi in 2006 to reduce
the level of ‘ApoB’ in non-human primates Cynomolgus monkeys.
(i) One group of monkeys were given RNAi treatment (Small
interfering RNAs, SiRNAs) (doses 1 mg/kg SiRNAs), (ii) Second
group of monkeys were given RNAi treatment (doses 2-5 mg/kg
SiRNAs), and (iii) Third group of monkeys were injected saline as
control .

The results of the experiments are illustrated in the graph given
below :

g 120_
< | 100-
9

D M-
S é 80
g5 60-
£ g

n o -
oS 40
2

2 20
o

= 0

48 144 264
Time (hours) ——>

SalineX  [[] 1 mgkgY W25 mg/kg Z
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1)

(i1)

(iii)

What do you interpret from the bars (X and Z) obtained after
264 hours of treatment of monkeys with saline and
2-5 mg/kg SiIRNAs treatment ?

Name the category of organisms in the living world, where
RNA interference (RNAi) takes place. Why ?

What is the basic principle involved in RNA interference
(RNAI) in silencing the preferred genes ?
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General Instructions :

Read the following instructions very carefully and strictly follow them :
(i) This question paper consists of 13 questions.

(it)  All questions are compulsory.

(iti) The question paper has three sections — Section A, B and C.
(iv) Section A has 6 questions of 2 marks each.

(v)  Section B has 6 questions of 3 marks each.

(vi) Section C has a case-based question of 5 marks.

(vii) There is no overall choice in the question paper. However, internal choices
have been provided in some questions. Attempt only one of the alternative
in such questions.

(viii) Wherever necessary, neat, proportional and properly labelled diagrams
should be drawn.

SECTION A
1. Lactic Acid Bacteria (LAB) sets milk into curd and also plays a very
beneficial role for human health. Give any two suitable reasons. 2
2. (a) A person suffering from AIDS dies of opportunistic infections

(ARC) i.e., infections that could have been otherwise overcome.

(1) State one reason as to why an ‘HIV’ patient dies of
‘opportunistic infections’.

(ii))  Give the scientific name of one bacterium and one parasite
which mainly attack a person suffering from AIDS.

(iii)  Write the full form of the name of the widely used diagnostic
test for AIDS. 2
OR
(b) In spite of the statutory warning on cigarette packets against
‘smoking’ and its injurious effects on health, smoking is still
prevalent in the society. Enumerate four important health hazards
to a smoker. 2

3. Though filariasis is not fatal, but the disease in humans is responsible for
considerable suffering, gross deformities and disability. Write the
scientific name of any two helminth worms causing the disease and state
two chronic manifestations of filariasis. 2
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State two morphological attributes observed in the leaves of desert plants

that enable them to survive in extreme conditions in the desert. 2

Study the given diagrams of Biogas plants — ‘A’ and ‘B’ and answer the

questions that follow :

Slurry of Slurry of
dung —> Gas pipe human —> (Gas pipe
\L excreta
Y

\ = (Gas holder \ =— (Gas holder
- — = \ —————
=2 7E[7|Shudge EEEECE I Ew
?_— - - —_‘—:——Digester S :'_-__-__:_——Digester
Biogas Plant (A) Biogas Plant (B)

Which one of the two biogas plants can be used for generating gas fuel and

electricity and why ? Give suitable reasons in support of your answer. 2

(a)  Study the given graphs (X) and (Y) depicting the annual variation
in solar radiation on Earth from January to December and answer
the undermentioned questions.

= 5 |
o Q
: 2
5 5 T
= =
o o
i i
= =
a HAEEEEEEEEEE a HEEEEENEEEN
Jan. Dec. Jan. Dec.
Months — Months —
(X) (Y)

(1) Identify the graph that depicts (I) tropical region, and
(IT) temperate region, respectively.

(ii)  Which of the two regions, (X) or (Y), will show high biological
diversity and why ? Give two reasons. 2

OR
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(b) @) When prickly pear cactus was introduced into Australia in
early 1920s, it caused havoc and ecosystem instability by
achieving very high population densities. Explain the reason

for its rapid spread into millions of hectares of rangeland.

(ii)  State the importance of ‘Prey-predator’ relationship in a

habitat. 2

SECTION B

7. Over the last century, vaccination has been the most effective medical

strategy to control infectious diseases. Explain the principle on which

‘vaccinations’ act. 3
8. (a)  “Some species in an ecosystem exert greater influence in driving
major ecosystem services than others.” How did Paul Ehrlich
explain this concept in his ‘rivet popper hypothesis’ ? 3
OR

(b) @) How has the introduction of Nile Perch into Lake Victoria in
East Africa had a devastating effect on the indigenous
species in the lake ?

(ii) Name two invasive weed species which have posed a threat
to the existence of our native species. 3

9. When Plasmodium sp. (malarial parasite) enters the human body, it
reproduces asexually and increases its number. During this course, the
affected person suffers from malaria. After a number of asexual cycles,
the parasite, in order to complete its life cycle, enters the sexual phase of
its life. Trace the sexual stages in the life cycle of Plasmodium in a
female Anopheles mosquito, when it bites an infected person, up to the

formation of mature infective stages of the parasite. 3
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10. With the advent of sophisticated techniques of genetic engineering, we
can now readily purify and isolate DNA. Name and explain the different
steps involved in the separation and isolation of DNA fragments once cut

by restriction endonucleases.

11. “Large scale production of recombinant DNA requires the use of

bioreactors.”
(a)  Draw a labelled diagram of a simple stirred-tank bioreactor.

(b)  State why a simple-stirred tank bioreactor generally has a curved

base.

12. Given below is a picture of a natural large habitat that is being
continuously broken into smaller patches. This process is continuing,
increasing and expanding over time due to human impact, thereby posing
a great risk to the existence of species in the habitat.

>
ﬁ () Gaps created
over time
W due to human

activities

Original
Habitat
Habitat loss due to creation of ‘patches’ in a habitat

(a) Do you agree with the above statement ? Give two suitable reasons

in support of your answer.

(b)  Write the ecological term used for such patches formed in an

original habitat.
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13. (a)

@ Restriction Enzyme

SECTION C

Development of recombinant DNA technology has opened gates to
many breakthroughs in the fields of medicine and agriculture. This
has enabled scientists to isolate, sequence and manipulate
individual genes obtained from diverse living or dead cells. Given
below is a diagram showing the basic steps involved in genetically
modifying an organism. Study the given diagram and answer the
questions that follow :

\

Xl (Gene of Interest) @ / 00
Restriction | 5 @ %©©© ———
Enzyme - 00 o

rDNA E. coli \
@ (vector) ® 0
®00

Plasmid
(Vector)

(1) Are two different types of restriction endonucleases used,
one to cut the vector DNA and another to cut the desired
DNA to be cloned ? Support your answer, giving reason.

(i1))  Which enzyme is used at step (X) to integrate the foreign
DNA with the vector DNA ?

(iii) What is the term used for step (Y) showing multiple copies
of the foreign DNA being formed in transformed E. coli ?

(iv) Draw a diagram of E. coli cloning vector pBR322 to show the
following :

I Any one restriction endonuclease site in tetracycline
resistance gene

(I)  Any one restriction endonuclease site in ampicillin
resistance gene

(ITIT)  ‘or?’ site

(v)  What does “rop” code for in plasmid pBR322 ? 5x1=5
OR
11 @52 P.T.O.
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(b) RNA interference (RNAi) holds great potential as a therapeutic
agent for the treatment of human diseases and as a bicontrol agent
for controlling pests in the agricultural fields. An experiment was
conducted to study the use of ‘RNA1’ for the potential treatment of
disorders of cholesterol metabolism. Some people possess genetic
mutations with elevated levels of ‘ApoB’ gene which predisposes
them to coronary artery diseases.

Lowering the amount of ‘ApoB’ can reduce the number of
lipoproteins and lower the blood cholesterol.

Tracy Zimmerman and her colleagues used RNAi in 2006 to reduce
the level of ‘ApoB’ in non-human primates Cynomolgus monkeys.
(i) One group of monkeys were given RNAi treatment (Small
interfering RNAs, SiRNAs) (doses 1 mg/kg SiRNAs), (ii) Second
group of monkeys were given RNAi treatment (doses 2-5 mg/kg
SiRNAs), and (iii) Third group of monkeys were injected saline as
control .

The results of the experiments are illustrated in the graph given
below :

g 120_
< | 100-
9

D M-
S é 80
g5 60-
£ g

n o -
oS 40
2

2 20
o

= 0

48 144 264
Time (hours) ——>

SalineX  [[] 1 mgkgY W25 mg/kg Z
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(i1)
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1)

(i1)

(iii)

What do you interpret from the bars (X and Z) obtained after
264 hours of treatment of monkeys with saline and
2-5 mg/kg SiIRNAs treatment ?

Name the category of organisms in the living world, where
RNA interference (RNAi) takes place. Why ?

What is the basic principle involved in RNA interference
(RNAI) in silencing the preferred genes ?

15 B4
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General Instructions :

Read the following instructions very carefully and strictly follow them :
(i) This question paper consists of 13 questions.

(it)  All questions are compulsory.

(iti) The question paper has three sections — Section A, B and C.
(iv) Section A has 6 questions of 2 marks each.

(v)  Section B has 6 questions of 3 marks each.

(vi) Section C has a case-based question of 5 marks.

(vii) There is no overall choice in the question paper. However, internal choices
have been provided in some questions. Attempt only one of the alternative
in such questions.

(viii) Wherever necessary, neat, proportional and properly labelled diagrams
should be drawn.

SECTION A
1. A patient who has wundergone an organ transplant is put on
‘immunosuppressant’. Name the ‘immunosuppressant’ and its source
organism. 2
2. Though filariasis is not fatal, but the disease in humans is responsible for

considerable suffering, gross deformities and disability. Write the
scientific name of any two helminth worms causing the disease and state
two chronic manifestations of filariasis. 2

3. (a)  Study the given graphs (X) and (Y) depicting the annual variation
in solar radiation on Earth from January to December and answer
the undermentioned questions.

HEEEEEEEEEN
Jan. Dec. Jan. Dec.

Months — Months —

(X) (Y)

Solar radiation
_—

Solar radiation
—

(1) Identify the graph that depicts (I) tropical region, and
(IT) temperate region, respectively.
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(i1))  Which of the two regions, (X) or (Y), will show high biological
diversity and why ? Give two reasons. 2

OR

(b) @) When prickly pear cactus was introduced into Australia in
early 1920s, it caused havoc and ecosystem instability by
achieving very high population densities. Explain the reason

for its rapid spread into millions of hectares of rangeland.

(ii)  State the importance of ‘Prey-predator’ relationship in a
habitat. 2

4., Study the given diagrams of Biogas plants — ‘A’ and ‘B’ and answer the

questions that follow :

Slurry of Slurry of
dung —> Gas pipe human —> Gas pipe
\L excreta
Y

\ = (Gas holder \ =— (Gas holder
- | Sludge S ™ Sludge
-'__—-:__— ’_‘—:——Digester T :_——Digester
Biogas Plant (A) Biogas Plant (B)

Which one of the two biogas plants can be used for generating gas fuel and

electricity and why ? Give suitable reasons in support of your answer. 2

5. When tourists go to places of high altitude like Rohtang Pass or
Mansarovar, they are advised not to venture out for two days at least to
get acclimatized to the prevailing conditions there. Explain how they get

acclimatized. 2

6. (a) A person suffering from AIDS dies of opportunistic infections
(ARC) i.e., infections that could have been otherwise overcome.

(1) State one reason as to why an ‘HIV’ patient dies of
‘opportunistic infections’.
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(ii)  Give the scientific name of one bacterium and one parasite
which mainly attack a person suffering from AIDS.

(iii)  Write the full form of the name of the widely used diagnostic
test for AIDS. 2
OR
(b) In spite of the statutory warning on cigarette packets against
‘smoking’ and its injurious effects on health, smoking is still
prevalent in the society. Enumerate four important health hazards
to a smoker. 2

SECTION B

7. With the advent of sophisticated techniques of genetic engineering, we
can now readily purify and isolate DNA. Name and explain the different
steps involved in the separation and isolation of DNA fragments once cut
by restriction endonucleases. 3

8. (a)  Development of recombinant DNA technology has made the
expression of protective protein antigens (to be used as ‘vaccines’)
in heterologous systems/bacteria or any other organism. Give an
example of a vaccine developed by such a technology and the host
used.

(b)  Explain how a humoral immunity system gets into action when a

foreign antigen enters into a human body. 3
9. (a) “Some species in an ecosystem exert greater influence in driving
major ecosystem services than others.” How did Paul Ehrlich
explain this concept in his ‘rivet popper hypothesis’ ? 3
OR

(b) @) How has the introduction of Nile Perch into Lake Victoria in
East Africa had a devastating effect on the indigenous
species in the lake ?

(ii) Name two invasive weed species which have posed a threat
to the existence of our native species. 3
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10. When Plasmodium sp. (malarial parasite) enters the human body, it
reproduces asexually and increases its number. During this course, the
affected person suffers from malaria. After a number of asexual cycles,
the parasite, in order to complete its life cycle, enters the sexual phase of
its life. Trace the sexual stages in the life cycle of Plasmodium in a
female Anopheles mosquito, when it bites an infected person, up to the

formation of mature infective stages of the parasite. 3

11. Given below is a picture of a natural large habitat that is being
continuously broken into smaller patches. This process is continuing,
increasing and expanding over time due to human impact, thereby posing
a great risk to the existence of species in the habitat.

@ﬂ éa() Gaps created

over time
due to human
activities

Original
Habitat
Habitat loss due to creation of ‘patches’ in a habitat

(a) Do you agree with the above statement ? Give two suitable reasons

in support of your answer.

(b)  Write the ecological term used for such patches formed in an

original habitat. 3

12. An application of biotechnology in agriculture involves production of pest

resistant plants using ‘cry’ genes from a bacterium, Bacillus thuringiensis.
(a)  Proteins coded by which specific Bt toxin genes control corn borer ?

(b) How does Bt toxin produced by the bacteria kill the insect ?
Explain. 3
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13. ()

Qs g

TS €1.UA. T, WiEfeh! < fosm 3 fafehean qon &y & &l 4 3
ShIfdehRl TNl o elare @id feu § | a1Heh 38k 39 4 Sfifaa
AT Ha hINERIAT | faf¥re SAi o geeentvl, 3T o g qun
37 - B H GAY §U R | SAARh ®Y 8 Sfal % EIO o I
T bl 9 3@ gy et T B | fou U e W 3red i
qen Frafafaa geat & 3 G @

©) EIGECERESIER]
5 SN

T 1w @ 5 &
(@) wfeie TR % ® @@@
| e @
(Y)
(i) o HaTEgsh SIL.UA.W. hl 4 o fa@ 91 o fopu a9 a1
IIfSd €U &l &4 & fau @ We-he gewr & gfdeus
GEI{aAUSl ST ITANT TRl ST 8 ? HROT qd Y 9 I hl
gfee ifT |
(i) = (X) # food €1.uA.u. &l gage L. | gHIfase
= foTu forg TSTew w1 39 foRam STTaT B 2
(iii) ®UANd & Hlarr 4 foodm (sEd) Swu HiosEs
yfafeafe=i =& fmior &t guie are =7 (Y) &t fea oy
JeaTaed] gRT ST SITdT & 2
(iv) & @Icrrs st daresh pBR322 # 1 &t gwia & fofu sm@
o-IsU .
(I)  grETssend it S &1 g T gfaeaed TSRyfaaus o
(I1) vfufafem i Sfim o1 a8 t gfeed ERyfaaus o
(II) 9 (ori) ¥

(v) wfsHS pBR322 H “rop” fohHehl e TH@H Hidl & ? 5x1=5
AT
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13. (a)

@ Restriction Enzyme

SECTION C

Development of recombinant DNA technology has opened gates to
many breakthroughs in the fields of medicine and agriculture. This
has enabled scientists to isolate, sequence and manipulate
individual genes obtained from diverse living or dead cells. Given
below is a diagram showing the basic steps involved in genetically
modifying an organism. Study the given diagram and answer the
questions that follow :

\

Xl (Gene of Interest) @ / 00
Restriction | 5 @ %©©© ———
Enzyme - 00 o

rDNA E. coli \
@ (vector) ® 0
®00

Plasmid
(Vector)

(1) Are two different types of restriction endonucleases used,
one to cut the vector DNA and another to cut the desired
DNA to be cloned ? Support your answer, giving reason.

(i1))  Which enzyme is used at step (X) to integrate the foreign
DNA with the vector DNA ?

(iii) What is the term used for step (Y) showing multiple copies
of the foreign DNA being formed in transformed E. coli ?

(iv) Draw a diagram of E. coli cloning vector pBR322 to show the
following :

I Any one restriction endonuclease site in tetracycline
resistance gene

(I)  Any one restriction endonuclease site in ampicillin
resistance gene

(ITIT)  ‘or?’ site

(v)  What does “rop” code for in plasmid pBR322 ? 5x1=5
OR
11 @52 P.T.O.



(@) wMa W h! TafehedT AT $Y &= H dgehi o I & fIg WU,

Ao (IR.TA.T.1) <l forfehedia Toie o ¥4 wgd i dwreETd
2 | BIEld 3T fasert i fafehear § ‘MR & S %
A b ToTC Teh T foRal T | $® AT § AR Scaiadd aid
2 o ‘ApoB’ 59 & 3= T & R E-GH-1 T & 914 3 |

‘ApoB’ & T ! HH 4 ¥ AN <l I=a1 a1 T hiaAeelia 6l
AT | I AT Fehdl 7 |

ot fores qen 39k TEAfiE 9 2006 H TR.TAT.1 HT ITAN IMHS
YISHSH GrI7iFlerrg I B ‘ApoB’ o TR (W) @l %H & & folu
R | (1) 90 % TH TR B RNTATL Tafhean (STeu SAfaHR)
IR.TA.T., SiRNAs) &1 (1 mg/kg SiRNAs) &l G ¢ T8, (ii) a=d
% GEL g ! ‘N.UA.T.{ fafehcan 2q (2-5 mg/kg SiRNAs) i U
@ TS, AT (iii) I ok AR g I FREEe gfaes wq dwgd A
(3tere) Teram TR |

T § 9Ted 9ROl skl i few U e g @i T B

120-
100-
Ve —~
E % 80
% E 60-
S 40-
20-
48 14 264
g (Huel H) ——>
% Ters X M 1 mgkgY B 25mgkgZ
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(b)  RNA interference (RNAi) holds great potential as a therapeutic
agent for the treatment of human diseases and as a bicontrol agent
for controlling pests in the agricultural fields. An experiment was
conducted to study the use of ‘RNA1’ for the potential treatment of
disorders of cholesterol metabolism. Some people possess genetic
mutations with elevated levels of ‘ApoB’ gene which predisposes
them to coronary artery diseases.

Lowering the amount of ‘ApoB’ can reduce the number of
lipoproteins and lower the blood cholesterol.

Tracy Zimmerman and her colleagues used RNAi in 2006 to reduce
the level of ‘ApoB’ in non-human primates Cynomolgus monkeys.
(i) One group of monkeys were given RNAi treatment (Small
interfering RNAs, SiRNAs) (doses 1 mg/kg SiRNAs), (ii) Second
group of monkeys were given RNAi treatment (doses 2-5 mg/kg
SiRNAs), and (iii) Third group of monkeys were injected saline as
control .

The results of the experiments are illustrated in the graph given
below :

g 120_
< | 100-
9

D M-
S é 80
g5 60-
£ g

n o -
oS 40
2

2 20
o

= 0

48 144 264
Time (hours) ——>

SalineX  [[] 1 mgkgY W25 mg/kg Z
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1)

(i1)

(i)

ST Sl TeATeT 997 2-5 mg/kg SiRNAs g1 fafercan & 264 =vdi
o I T T (X 9T Z) Sl ST 39 fohg JehR il 2

gofld Srd | Sfial % 39 g9t &1 9 fdfge 598 s w.w
ol (RNAQ) BT & | =il ?

AN WU, Ffqhul (M TA.TI) g aifdd 9 &l 3d
(STIWTET) S ITeT A agra &= 7 ?
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1)

(i1)

(iii)

What do you interpret from the bars (X and Z) obtained after
264 hours of treatment of monkeys with saline and
2-5 mg/kg SiIRNAs treatment ?

Name the category of organisms in the living world, where
RNA interference (RNAi) takes place. Why ?

What is the basic principle involved in RNA interference
(RNAI) in silencing the preferred genes ?

15 B4



